General Info

Number: PROJECT NO. 46-2021
Description: FURNISH AND APPLY

RETRO-REFLECTIVE PAVEMENT MARKINGS ON THE OHIO TURNPIKE MAINLINE ROADWAY

AND INTERCHANGE RAMPS MILEPOST 0.0 TO 241.2

WILLIAMS, FULTON, LUCAS, WOOD, OTTAWA, SANDUSKY, ERIE, LORAIN, CUYAHOGA, SUMMIT, PORTAGE, TRUMBULL AND MAHONING COUNTIES

Deadline: FEBRUARY 24, 2021 AT 2:00 P.M. (EASTERN TIME)

(Estimated Cost: \$1,250,000.00)

Bids	
Business	Bid Total
American Roadway Logistics	\$1,176,056.40
A & A Safety, Inc.	\$1,209,282.50
The Aero-Mark Company LLC	\$1,212,121.00
Oglesby Construction Inc	\$1,268,929.40

AMERICAN ROADWAY LOGISTICS

PAVEMENT MARKINGS (Ref. Nos. 1-14)						
Ref. No.	. Item No.	Description	Quantity	Units	Unit Price	Extension
	CMS 642	LANE LINE, 6", TYPE 1	711.86	MILE	\$260.00	\$185,083.60
2	CMS 642	LANE LINE, 6", TYPE 1	61,985.00	FOOT	\$0.12	, ,
3	CMS 642	EDGE LINE, 6", TYPE 1	969.31	MILE	\$610.00	• •
4	CMS 642	DOTTED LINE, 12", TYPE 1	2,250.00	FOOT	\$0.30	\$675.00
5	CMS 642	DOTTED LINE, 6", TYPE 1	73,235.00	FOOT	\$0.65	\$47,602.75
6	CMS 642	CHANNELIZING LINE, 12", TYPE 1	143,260.00	FOOT	\$0.65	\$93,119.00
7	CMS 642	TRANSVERSE/DIAGONAL LINE, TYPE 1	5,752.00	FOOT	\$2.85	\$16,393.20
8	CMS 642	CHANNELIZING LINE, 8", TYPE 1	4,280.00	FOOT	\$0.35	\$1,498.00
9	CMS 642	STOP LINE, TYPE 1	831.00	FOOT	\$4.35	\$3,614.85
10	CMS 642	YIELD LINE, TYPE 1	32.00	FOOT	\$12.00	\$384.00
11	CMS 642	WORD ON PAVEMENT, 96", TYPE 1	49.00	EACH	\$90.00	\$4,410.00
12	CMS 642	LANE ARROW, TYPE 1	82.00	EACH	\$80.00	\$6,560.00
13	CMS 642	ISLAND MARKING, TYPE 1	100.00	SQ FT	\$10.00	\$1,000.00
14	SPECIAL	LANE LINE RESTRIPE	711.86	MILE	\$295.00	\$209,998.70

Total: \$1,169,056.40

GENERAL (Ref. No. 15)							
Ref. No	. Item No.	Description	Quantity	Units	Unit Price	Extension	
15	IB, ART. 6	PREMIUM FOR CONTRACT PERFORMANCE AND PAYMENT BOND	1.00	LUMP	\$7,000.00	\$7,000.00	
					Total:	\$7,000.00	
		TOTAL BID AMOUNT (REF. NO. 1 THRU REF. NO.	15)			\$1,176,056.40	

A & A SAFETY, INC.

PAVEMENT MARKINGS (Ref. Nos. 1-14)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	CMS 642	LANE LINE, 6", TYPE 1	711.86	MILE	\$240.00	\$170,846.40
2	CMS 642	LANE LINE, 6", TYPE 1	61,985.00	FOOT	\$0.15	\$9,297.75
3	CMS 642	EDGE LINE, 6", TYPE 1	969.31	MILE	\$595.00	\$576,739.45
4	CMS 642	DOTTED LINE, 12", TYPE 1	2,250.00	FOOT	\$0.65	\$1,462.50
5	CMS 642	DOTTED LINE, 6", TYPE 1	73,235.00	FOOT	\$0.60	\$43,941.00
6	CMS 642	CHANNELIZING LINE, 12", TYPE 1	143,260.00	FOOT	\$0.70	\$100,282.00
7	CMS 642	TRANSVERSE/DIAGONAL LINE, TYPE 1	5,752.00	FOOT	\$3.00	\$17,256.00
8	CMS 642	CHANNELIZING LINE, 8", TYPE 1	4,280.00	FOOT	\$0.55	\$2,354.00
9	CMS 642	STOP LINE, TYPE 1	831.00	FOOT	\$4.50	\$3,739.50
10	CMS 642	YIELD LINE, TYPE 1	32.00	FOOT	\$10.00	\$320.00
11	CMS 642	WORD ON PAVEMENT, 96", TYPE 1	49.00	EACH	\$185.00	\$9,065.00
12	CMS 642	LANE ARROW, TYPE 1	82.00	EACH	\$100.00	\$8,200.00
13	CMS 642	ISLAND MARKING, TYPE 1	100.00	SQ FT	\$9.00	\$900.00
14	SPECIAL	LANE LINE RESTRIPE	711.86	MILE	\$365.00	\$259,828.90

Total: \$1,204,232.50

GENERAL (Ref. No. 15)							
Ref. No.	. Item No.	Description	Quantity		Units	Unit Price	Extension
15	IB, ART. 6	PREMIUM FOR CONTRACT PERFORMANCE AND PAYMENT BOND		1.00	LUMP	\$5,050.00	\$5,050.00
						Total:	\$5,050.00

THE AERO-MARK COMPANY, LLC

PAVEME	ENT MARK	KINGS (Ref. Nos. 1-14)				
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	CMS 642	LANE LINE, 6", TYPE 1	711.86	MILE	\$268.00	\$190,778.48
2	CMS 642	LANE LINE, 6", TYPE 1	61,985.00	FOOT	\$0.19	\$11,777.15
3	CMS 642	EDGE LINE, 6", TYPE 1	969.31	MILE	\$617.00	\$598,064.27
4	CMS 642	DOTTED LINE, 12", TYPE 1	2,250.00	FOOT	\$0.49	\$1,102.50
5	CMS 642	DOTTED LINE, 6", TYPE 1	73,235.00	FOOT	\$0.67	\$49,067.45
6	CMS 642	CHANNELIZING LINE, 12", TYPE 1	143,260.00	FOOT	\$0.68	\$97,416.80
7	CMS 642	TRANSVERSE/DIAGONAL LINE, TYPE 1	5,752.00	FOOT	\$2.85	\$16,393.20
8	CMS 642	CHANNELIZING LINE, 8", TYPE 1	4,280.00	FOOT	\$0.36	\$1,540.80
9	CMS 642	STOP LINE, TYPE 1	831.00	FOOT	\$4.50	\$3,739.50
10	CMS 642	YIELD LINE, TYPE 1	32.00	FOOT	\$12.00	\$384.00
11	CMS 642	WORD ON PAVEMENT, 96", TYPE 1	49.00	EACH	\$107.00	\$5,243.00
12	CMS 642	LANE ARROW, TYPE 1	82.00	EACH	\$100.00	\$8,200.00
13	CMS 642	ISLAND MARKING, TYPE 1	100.00	SQ FT	\$9.00	\$900.00
14	SPECIAL	LANE LINE RESTRIPE	711.86	MILE	\$296.00	\$210,710.56

Total: \$1,195,317.71

GENERAL (Ref. No. 15)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
15	IB, ART. 6	PREMIUM FOR CONTRACT PERFORMANCE AND PAYMENT BOND	1.00	LUMP	\$16,803.29	\$16,803.29	
					Total:	\$16,803.29	
		TOTAL BID AMOUNT (REF. NO. 1 THRU REF. NO. 15)				\$1,212,121,00	

OGLESBY CONSTRUCTION INC.

PAVEMENT MARKINGS (Ref. Nos. 1-14)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	CMS 642	LANE LINE, 6", TYPE 1	711.86	MILE	\$280.00	\$199,320.80
2	CMS 642	LANE LINE, 6", TYPE 1	61,985.00	FOOT	\$0.30	\$18,595.50
3	CMS 642	EDGE LINE, 6", TYPE 1	969.31	MILE	\$655.00	\$634,898.05
4	CMS 642	DOTTED LINE, 12", TYPE 1	2,250.00	FOOT	\$0.80	\$1,800.00
5	CMS 642	DOTTED LINE, 6", TYPE 1	73,235.00	FOOT	\$0.65	\$47,602.75
6	CMS 642	CHANNELIZING LINE, 12", TYPE 1	143,260.00	FOOT	\$0.71	\$101,714.60
7	CMS 642	TRANSVERSE/DIAGONAL LINE, TYPE 1	5,752.00	FOOT	\$3.00	\$17,256.00
8	CMS 642	CHANNELIZING LINE, 8", TYPE 1	4,280.00	FOOT	\$0.85	\$3,638.00
9	CMS 642	STOP LINE, TYPE 1	831.00	FOOT	\$5.00	\$4,155.00
10	CMS 642	YIELD LINE, TYPE 1	32.00	FOOT	\$15.00	\$480.00
11	CMS 642	WORD ON PAVEMENT, 96", TYPE 1	49.00	EACH	\$250.00	\$12,250.00
12	CMS 642	LANE ARROW, TYPE 1	82.00	EACH	\$110.00	\$9,020.00
13	CMS 642	ISLAND MARKING, TYPE 1	100.00	SQ FT	\$10.00	\$1,000.00
14	SPECIAL	LANE LINE RESTRIPE	711.86	MILE	\$295.00	\$209,998.70

Total: \$1,261,729.40

GENERAL (Ref. No. 15)							
Ref. No. Item No. Description	Quantity	Units	Unit Price	Extension			
15 IB, ART. 6 PREMIUM FOR CONTRACT PERFORMANCE AND PAYMENT BOND	1.00	LUMP	\$7,200.00	\$7,200.00			
			Total:	\$7,200.00			

TOTAL BID AMOUNT (REF. NO. 1 THRU REF. NO. 15) ------

\$1,268,929.40